
2 0 2

10

10

2x
3

x
2

1−

2x

1− 1

x

2 0 2 4

2

2

4

2x
3

9x
2− 12x+ 3−

x

6 4 2 0 2 4 6

2

4

e
sin x( )

x

10 5 0 5 10

10

10

x
2

x 2+

x 2−

2−

x

4 2 0 2 4

10

x
2

x 4+⋅

x

5 0 5

5

5

x 2 atan x( )−

x

1 0 1

5

5

ln
1 x+

1 x−








1− 1

x

1 0 1

1

1

2

x
2

1−( )3

x

0.5 0 0.5 1 1.5

1

1

2

3x
4

4x
3−

x



10 0 10

10

10

x sin x( )+

x

0 1

1

3
x

2
x−

x

5 0

4

2

x
3

2 x 1+( )
2

x

2
1−

1−

x

2 0 2

20

40

60

x
2

e

1

x

x

10 0 10

5

10

e

1

x

x1 0 1

1

2

asin x( )

x

0 1

1

2

x

x
2

x

0 1

2

2

3
x

x
3

x

0.5 0 0.5 1

1

2

3
x

2

2
x

3

x

0 2

0.5

1

10
x x 1−( )⋅ x 2−( ) x 3−( )

x



1 0 1

5

5

ln
x 1+

1 x−








1− 1

x

0 1 2 3

5

5

x ln x( )+

x

1x
ln

x 1+
1 x−








lim
−→

∞→
∞x

x ln x( )+
x

lim
→

1→
∞x

x ln x( )+ x−lim
→

∞→

5 0

50

50

x
3

3x
2+ 9x− 3−

x

2 0 2

5

ln 4 x
2−( )

x
polyroots

3−

9−

3

1

























4.759−

0.305−

2.064











=

0 1 2 3

2

2

4

x ln x( )⋅

x

1 0 1

10

10

3x
5

5x
4− 4+

x

2 1 0 1

2

2

3
x

3
x

2+

x

1 0.5 0

0.5

0.5

3
x

3
x

2+

x


